» ="
5 A = '-?'—?’“‘17&6 -
= 1 (£ e
1K wRR SCHAZ| 4 4
2 | % ARERFEA 2 |H
; FE5na0 s | A FRIRER ¥
- ARRH2 2 (3%, 13:30-) _
5 ZELMA 5 | K 3%?&15%7 —hgst SCER 24
2%E:13:05-)
- FERE 6 | x| |PEHEBRBOE
7 | HEZERBEIREE 7 | ST — AR
HE2#%2Z(G5F,12:45-) s |+ L%.’f»"a‘\ﬁk(ﬂvtj-/\'x’r) iﬂzéfﬁﬁg-%?gﬁff
8 |k @#ﬁyﬁﬁg ’ SC3E#E SEEHV—IHE - R ANE R
MEHRZ (3413050 3-5 o |B
9 | K =T
XER s | 10| A =
10| & EHRB(305) EERBBOE245)
1 IE PTA#RS 11|k
DEEFRLTS BRRBCE0) |, [0
12 (8 12| K SC3ERL
_ 0
13| A 53 4R(OQD)IZE = | 13 | % R &2 (14:;13:05-)
MESREFE 5
4| x| |FHEEE 14| % RS OREE KRR
15 | % 3-6 15 (£ TIERAMK
16 | K 6 |8
B33 4 SSW;E**
17 e ENEP X 17 | B
+ 2 PN 18 | X
18 TEERAM - FER WFREBBRERR LEEBA5VAB0)| ,_
9ol g 19 | K RAERB(4:13:30-) $ERMAE  SCEM
20 . EBARER PTARS 20 | K
" BEEE( ~6/14) 21 | % HEERESUSHER 45
21 |k ERMRE2(13:05-) RS IED)
LHR ~ : 33 . 31O
22 |k ME- FIFIES SCEA ”t 22 | £ T IERANC- 2B S
23 | K 23 |B
WEHREZ(13.05-) =24 |A
24| % 14 TR U0S ORI R) T EEEEETTS -
RABIR (T N 25 | K .
25 |+ 1R +REEN- TS e e
26 | 7k ”
26 | B
B 5EHE4576- TIRIZE 27K
27 SE 15450 — Py SSWEH
28 | & BEE2HKR? 55 | 28 | &
EEEE E1006) _ = | 29 | £
29 | & 1EMEEFE . 2-2| = | 2
30 | K 2| 30 | B
31 |2 HR%52(13:05-) 5




